Why did the Reds (Communists) win the Civil War?

1. The Whites lacked political unity or unified leadership

They were weakened by the fact that they had diverse aims: some wanted to restore the Tsar, others to set up a moderate republic or a military dictatorship. The murder of the royal family at Yekaterinburg in July 1918 removed the possibility that the Whites might rally around them.
2. The Whites never coordinated their attacks .White forces, spread out over thousands of miles, failed to link up: the nearer to Moscow they got, the more strained their lines of communication became.

3. The Communists were more united and had better leadership.

In contrast to the Whites, the Communist Party was united behind Lenin and had a shared ideology (Marxism). Lenin and Trotssky were vert effective leaders; they were ruthless and pragmatic. Lenin was able to push through controversial yet necessary policies such as reintroducing management of factories by one manager and employing ex-Tsarist officers in the Red Army.

4. The Communists controlled a more coherent and compact area.
• -The Communists were defending a central region well served by railways and their lines of communication were much shorter than those of Whites. The Communists controlled the great industrial areas like Petrograd and Moscow.

5. Trotsky, as War Commissar, formed the Red Army and made it into disciplined force

• Trotsky and Lenin rejected the demands of some leading communists that the Party adopt Revolutionary Warfare. Lenin and Trotsky resorted to conscription in May 1918, instead of relying on the ill-disciplined but enthusiastic Red Guard militias that had been formed in 1917. By the end of 1918 the Red Army was 100,000 strong; by April 1919, 500,000; and by June 1920, 5 million. By contrast, Whites never managed to raise more than 650,000 soldiers.
• In the face of bitter opposition from other leading communists, Trotsky recruited 50,000 former Tsarist officers. Trotsky said that the officers to be squeezed like lemons and discarded later." Former officers who refused to serve were put into concentration camps and the were held hostage to ensure the officers' loyalty
• The Communist Party appointed political commissars to every army unit; Trotsky described the commissars as the “iron corset “. Trotsky toured the fronts in an armored train and dealt mercilessly  with deserters and incompetents 

• Trotsky restored the practice of appointing rather than electing officers 
6. Lenin was able to present the Bolsheviks as a patritic government fighting against foreigners

The Whites were unpopular because of their brutality (though the Bolsheviks were as brutal).

7. Foreign support for the Whites was limited and was withdrawn by the end of 1920

8. The peasants hated the Whites

This was because the Whites were committed to restoring land to the nobility.

9. From May 1918, Lenin took measures to control the economy, which were known as War Communism

These were, however, only partly successful 
The Consequences of the Civil War and of the Communists' Victory

The Communist government had survived the Civil War but its ruthless methods had made it deeply unpopular. When Lenin had been planning the 1917 Revolution, he had assumed that revolution would spread to other parts of Europe, but, by 1921, Lenin realized that Russia would be the only country with a Communist government for some time. Communist revolutions had failed in Germany and Hungary in 1919-1920. Lenin, therefore, knew that he would need both a strong army and secret police to defend his government from external and internal threats. The 'dictatorship of the proletariat', or more accurately the dictatorship of the Communist Party, would have to continue indefinitely.
